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(1,2,1), (1,1,2) of W%,

£ b(x) is a polynomial of degree >1 and K
i gettge% two real roots of I’(x? - ‘?ﬁ““ is a

b (x) + kp(x) = 0.
2, Answer any two questions :-

(a} A sequence iun} is defined by "5:70 and un+i = *u _

(i) Prove that the subsequence {u 2‘{1—-1} P {“Zn}
the same limit. _

(ii) Find lim U,
N>

- (b) Test the convergence of the series? U  where U =an

(c) Find 4,48
¢) Find 1im (1 + =
‘h—r-c( ﬂ)

/» Answer any two questiorﬁq_:- 1“,1__ L
~ (a) Prove that 113'4‘ J o am & =5 o
F i ﬁ”b Sya o

uniformly convergent on [0,1] ? Just
1+n“x

- (b) Is £ (x) = By

"(-c) Find the radius of convergence of the power series
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*ﬁ«') Determine the condit

x+y+z=1
SRy oy -2"0
5x + 7y + az = P

. Solution (11) no 8

admits of (1) only one

51-ution_ (11i) many solution.




(¢) Find the pedal equation of the following

5. Answer any two questions i-

and the st.line lx+my=1 is rightzanglﬂd if (a+b)(aL
(b) If a point lies on the ellipse st gz = 1, prove that its

2 2 . _ .
polar w.r.t. the ellipse -’-‘2- + -YT = 1 touches the ellipse
a b "
il 2
a'“ 2
s B 0
a b
(¢) Show that the product of focal distances of a point on an
ellipse 15 equal to the square of the length of semi-diameter
parallel to the tangent at this point. - 10x2

6. Answer any two questions $=

(a) The pPlane Ix+my=0 is rotated about its line of intersection
with the plane z=0 through an angle« . Prove that in its new
position, its equation will be Ix+my + z JiB ¥ tan< = 0,

(b) If the lines x = ay + b= c2 +d, x =y +f=%¥z +5 are
co-planar, then show that (¥ - g) (XP=- b} = (a ~c)(cd - a? ¥

(c) Show that the locus of a point which is e i
point which juidistant £ .
glven straight lines ¥y = mx, z=¢ and y"mx? zZ= -c is e 1
mxy + c(ﬂimzjz = 0, 10x2

7. Answer any two Questions s-

(a) Solve : y“iog y = xpy + b2

(b) Solve : (D2-3D+2)y = eJX
2
- d . d o
(c) Solve : (x+2);l-;§ (2x+5)a% + 2y = (xﬂ}e:‘ 10x2

8. Answer any two questions ;-
(a) Solve xzk + yzq = (x+y)z
2
(b) Solve by Charpit method (x%-y?) Pa - xy (p2 - qa) -

N S —

(¢) Find the complete integral of 22 = quy

(p, 9 have their usual significance) o
9, Answer any two questions :- l

e moments of a system of forces about the points (0,0)
(E) %'2 0) (O,B) are aw, 2aw, Jaw r'e.?.pectively. Find the :::omg)onents
s ltants parallel to the co-ordinate axes and the

elr resu
géuzgion to its line of action.

ht w are placed so gs E

(b) Two equ;érlzﬂd:gsagglzeig " with their ends Boef olean sgainst

each O;cltal floor, the coefficiegts of frigl:t%on of which w.r.t.
210_::%:? being M, then show that ang7ﬂ>2 ang .




> =22 and be equivalent to an €
?jtagether with a couple

5(u +15 )x
2(uS+ug + g 2)

 with velocities uy and
. directly,
3
o B
A particle is executi

accleration ﬂ'l(dis
introduced and the

U5 in the same direction
Show that the loss of kinetic energy d

(u1 o u2)2

NE @ 5.H.M. in a straight 11
tance). If a perisdie force my,

time period of force vibratiaﬁ-;i
to 1% times, show that qp"'n 4 .
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